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Section I  Vocabulary

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence and mark your answers on ANSWER SHEET 1. (10 points)

1. All their efforts to expedite the falling of the order have proved to be of little ______.


A. arrear
B. appropriate
C. avail
D. arbitrage

2. He would not give up though he realized that people would not ______ him as a lawful king.

A. specify
B. simplify
C. identify
D. recognize

3. It is generally believed that breakeven point is reached when sales ______ all costs.


A. deduct
B. cover
C. curb
D. display

4. Both sister and brother were injured in a car accident. It took them courage and ______ to learn to live with a handicap.

A. endurance


B. tolerance


C. insistence


D. existence
5. You should remember that there are 10 days of ______ allowed after the day of payment.


A. endorsement
B. difference
C. grace
D. deadline

6. This is a new model of ______ typewriter especially designed to meet the needs of traveling businessmen.


A. portable
B. mobile
C. flexible
D. active

7. The treasurer was arrested yesterday for trying to ______ the company’s financial records.


A. input
B. hover
C. fax
D. manipulate 

8. The explorer lost his way so he climbed to the top of the hill to ______ himself.


A. spot



B. locate



C. place



D. situate
9. The manager said that financial ______ for the coming year had already been set.


A. parameters

B. mergers



C. outputs



D. pegs
10. The fundamental ______ which govern all physical processes are also related to many everyday occurrences.

A. principals


B. principles


C. rules



D. regulations
11. As your agent, we shall spare no effort to ______ the sale of your folding chairs on our market.


A. ration


B. reconcile


C. sublet



D. promote
12. There was not a ______ accepted that although women are perfectly capable there are few women in positions power.


A. readily


B. essentially


C. practically


D. positively
13. Korea will enjoy a current account ______ of the equivalent of US $ 1.5 billion this year.


A. surplus


B. yield



C. turnover


D. reimbursement
14. The purpose is to ______ the true facts leading to the loss of the ship at sea.



A. come for 
B. come at
C. come into
D. come over

15. The purchaser shall not be entitled to any ______ or reduction in the purchase price.


A. account
B. abatement
C. actuals
D. alienation

16. During their first teacher training year, the students often visited local schools for the ______ of lessons.


A. observation
B. investigation
C. inspection
D. examination

17. You should bear in mind that the termination of the agreement is for a ______ on your part.


A. evasion
B. forfeit
C. default
D. graft

18. Young people’s social environment has a ______ effect on their academic progress.

A. gross



B. complete


C. solid



D. profound
19. It is said that any taxes, duties or ______ shall be borne by the Buyer.

A. exports


B. imposts


C. downpayments

D. compensations
20. It is impossible to ______ with a person whose methods are completely opposed to your own.

A. contact



B. connect



C. cooperate


D. consider
Section II  Cloze

Directions: Read the following passage. For each numbered blank there are four choices marked A, B, C and D. Choose the best one and mark your answers on ANSWER SHEET 1. (10 points)

The American idea that hard word was to be esteemed distinguished us from Europeans who   21   their gentlemen of leisure. For us, hard work   22   idleness was the way to distinction.


Now, however, like many other traditional values, hard work is coming under   23  . In academic journals, conferences and classrooms, the idea of hard work is considered to be another of those notions that the dominant forces of our society   24   on the rest of us. It merely advances white-male interests－  25   any woman or minority foolish enough to buy into the dominant value system will find out.


In a recent survey, high-school students in the United States and Japan were asked to   26  factors that contributed to success in the classroom. Of the Japanese, 72 percent listed hard work first   27   only 27 percent of Americans agreed.


Many factors contribute to the devaluing of hard work. Thinking that self-esteem is crucial, many parents and teachers   28   to point out the student’s failing, even laziness. To make matters   29  , Americans place an unusually high value on the idea of innate ability. And   30   inevitably deemphasizes the role that hard work plays in success.   31   if our students fail to see that hard work   32  , it is because we are telling them time and again, that it doesn’t. If we want young people to esteem hard work, it is up to us to show them its worth, its strength and its significance in everyday life.


And while we are at it, we should make sure they know there are many ideas to which we can all   33  . The notion that these values cannot   34   class, race more than the idea of hard work. It can call into question   35   there can be an American creed－a public philosophy for us all.
21. A. admire
B. despise
C. regard
D. enjoy

22. A. more than
B. rather than
C. other than
D. less than

23. A. way
B. praise
C. emphasis
D. attack

24. A. act
B. play
C. impose
D. perform

25. A. as
B. which
C. that
D. what

26. A. list
B. name
C. recall
D. rank

27. A. when
B. while
C. where
D. that

28. A. urge
B. hesitate
C. long
D. refuse

29. A. more important
B. less serious
C. worse
D. better

30. A. aptitude
B. latitude
C. longitude
D. gratitude

31. A. Thus
B. But
C. Whereas
D. Moreover

32. A. serves
B. involves
C. matters
D. works

33. A. describe
B. attribute
C. consent
D. prescribe

34. A. condemn
B. transform
C. convert
D. surpass

35. A. whether


B. that



C. why



D. how
Section III  Reading Comprehension

Directions: Read the following four passages. Answer the questions below each passage by choosing A, B, C and D. Mark your answers on ANSWER SHEET 1. (40 points)

Passage One

It has been established that in business, there are three phases of a business’s development, aptly illustrated by a military analogy. As in war, the business is first initiated by “commandos”, then stabilized by the “army”, and finally kept going by the “police”. In each of the three phases, the business drastically changes, and the role of each preceding agent is minimized to the point of exclusion.


In the first stage, the business does not yet even exist. The “commandos,” innovative, revolutionary thinkers with an abundance of energy and ideas, burst onto the scene, creating a business model and taking the risks necessary to start a successful business. These mavericks go about starting the business using their own methods, heedless of convention or tradition. Doing whatever it takes to get the project off the ground, they literally make something out of nothing, creating a company out of seemingly thin air.


In the next phase, the business has been established, but remains a fledgling company, precarious in its position in the market. At this point, the “army” moves in, picking up where the commandos left off. Although less risk is taken by the “army” of managing entrepreneurs, they work within the established rules to propel the company into a larger and more stable, secure position, seizing market share and establishing a brand name. The “army” is the team that makes a good idea great, pumping the company full of revenue to allow it to further grow and expand.


In the last stage, the “police” come in and keep the peace. Whereas the “commandos” got the ball rolling and the “army” came in to make it roll faster, the “police” simply make sure that it keeps rolling and doesn’t slow down. The “police” force is comprised of grunt workers who perform the day-to-day operations of the business. Without these workers, the business would quickly collapse in on itself, having grown too large to be sustainable. The “police” will not innovate or infuse any new ideas or concepts into the business, but will ensure that the momentum is maintained and that the business doesn’t lose any ground in terms of market share.


The three phases cannot coexist indefinitely, however. As the “army” rolls in, the “commandos” will find themselves limited in their ability to take chances and innovate. Those gambles and innovations, vital to getting the company started, now pose undue risk to the company’s continued health and growth. When the “police” of grunts and middle management take their place in the forefront, the commandos will often leave, preferring to apply their talents elsewhere where they’re more welcome and appropriate.

36. It is TRUE of a business that has been established but not yet fully developed that ______.

   A. ingenious, dynamic innovators are needed to infuse new concepts into the business in order for it to continue growing

   B. a team of managers is needed to continue and expand the growth to ensure the continued health of the company

   C. a team of workers is necessary in order to maintain the momentum of the business, but not necessarily institute any changes or new developments

   D. in order to maximize development, innovators, managers and grunt workers must work together side by side constantly
37. “These mavericks go about starting the business using their own methods, heedless of convention or tradition” (Para. 2) means that ______.

   A. the “commandos” are free to use whatever means at their disposal to get the business started

   B. if the “commandos” only work within established conventions and methods, they are doomed to failure

       C. “commandos” work almost exclusively outside the constraints of tradition and convention

       D. the “commandos” are reckless risk-takers not bound by any rules

38. According to the passage, all of the following are true EXCEPT that ______.

   A. the path of a business’s development can be broken down into three vital elements and stages

   B. once established, a team of grunt workers will ensure a business’s continued growth and momentum

       C. if the “police”, “army”, and “commandos” work together, maximum efficiency and business growth will not necessarily result

       D. the innovating pioneers that start the business often work outside the rules to get the job done

39. We can learn from paragraph 5 that ______.

   A. “commandos” must move on after the business has been established

   B. the agents in each phase of a business’s development are useful exclusively only in their own phase

   C. while “commandos”, “army” and “police” all have vital roles in a business’s development, those roles do not always overlap

   D. the tactics utilized by “commandos” are not appropriate outside of the first phase

40. The main purpose of the passage is to ______.

   A. inform the reader about the similarities between business and the military

   B. educate the reader on how a successful business is formed

   C. present a prevailing hypothesis on the path of a business’s development

   D. call the reader’s attention to the need for application of a structured growth plan in business

Passage Two

Climatic conditions are delicately adjusted to the composition of the Earth’s atmosphere. If there were a change in the atmosphere－for example, in the relative proportions of atmospheric gases－the climate would probably change also. A slight increase in water vapor, for instance, would increase the heatretaining capacity of the atmosphere and would lead to a rise in global temperatures. In contrast, a large increase in water vapor would increase the thickness and extent of the cloud layer, reducing the amount of solar energy reaching the Earth’s surface.


The level of carbon dioxide, CO2, in the atmosphere has an important effect on climatic change. Most of the Earth’s incoming energy is short-wave-length radiation, which tends to pass through atmospheric CO2 easily. The Earth, however, reradiates much of the received energy as long-wave-length radiation, which CO2 absorbs and then remits toward the Earth. This phenomenon, known as the greenhouse effect, can result in an increase in the surface temperature of a planet. An extreme example of the effect is thrown by Venus, a planet covered by heavy clouds composed mostly of CO2, whose surface temperatures have been measured at 430℃. If the CO2 content of the atmosphere is reduced, the temperature falls. According to one respectable theory, if the atmospheric CO2 concentration were halved, the Earth would become completely covered with ice. Another equally respectable theory, however, states that a halving of the CO2 concentration would lead only to a reduction in global temperatures of 3.


If, because of an increase in forest fires or volcanic activity, he CO2 content of the atmosphere increased, a warmer climate would be produced. Plant growth, which relies on both the warmth and the availability of CO2, would probably increase. As a consequence, plants would use more CO2. Eventually CO2 levels would diminish and the climate, in turn, would become cooler. With reduced temperatures many plants would die; CO2 would thereby be returned to the atmosphere and gradually the temperature would rise again. Thus，if this process occurred, there might be a long-term oscillation in the amount of CO2 present in the atmosphere, with regular temperature increases and decreases of a set magnitude.


Some climatologists argue that the burning of fossil fuels has raised the level of CO2 in the atmosphere and has caused a global temperature increase of at least 1. But a supposed global temperature rise of 1 may in reality be only several regional temperature increases, restricted to areas where there are many meteorological stations and caused simply by shifts in the pattern of atmospheric circulation. Other areas, for example, the South Hemisphere oceanic zone, may be experiencing an equivalent temperature decrease that is unrecognized because of the shortage of meteorological recording stations.

41. The author is primarily concerned with ______.

   A. explaining the effects that the burning of fossil fuels might have on climate

   B. illustrating the effects of CO2 on atmospheric radiation

   C. discussing effects that changes in the CO2 level in the atmosphere might have on climate

   D. challenging hypotheses about the effects of water vapor and CO2 on climate

42. We can infer from the passage that a large decrease in the amount of CO2 in the atmosphere would result in ______.

   A. at least a slight decrease in global temperatures.

   B. at the most a slight increase in short-wave-length radiation reaching the Earth.

   C. a slight short-term increase in atmospheric water vapor content.

   D. a large long-term increase in the amount of volcanic activity.

43. Which of the following questions does the passage supply information for answering?

   A. Why are projects of the effects of changes in water vapor levels on the climate so inaccurate?

   B. What are the steps in the process that takes place as CO2 absorbs long-wave-length radiation?

   C. How might our understanding of the greenhouse effect be improved if the burning of fossil fuels were decreased?

   D. What might cause a series of regular increases and decreases in the amount of CO2 in the atmosphere?
44. What’s the meaning of the word “oscillation” in the third paragraph?

   A. Isolation.
B. Swing.
C. Stability.
D. Sloping.
45. The passage implies that if there were a slight global warming at the present time, it would be ______.

   A. easy to measure the exact increase in temperature because of the abundance of temperature recording stations throughout the world

   B. easy to prove that the warming was caused by an increase of cloud cover

   C. easy to demonstrate the effects of the warming on the water vapor in the atmosphere

   D. difficult to prove that the warming was caused by the burning of fossil fuels

Passage Three


Further education is officially described as the “post-secondary stage of education, comprising all vocational and nonvocational provision made for young people who have left school, or for adults”. Further education thus embraces the vast range of university, technical, commercial, and art education and the wide field of adult education. It is this sector of education, which is concerned with education beyond the normal school-leaving ages of 16 or 18, that has experienced the most astonishing growth in the number of students.


In the 19th century the dominance of Oxford and Cambridge was challenged by the rise of the civic universities, such as London, Manchester, and Birmingham. Following the lead of the 18th-century German universities and responding to a public demand for increased opportunity for higher education, Britain’s new civic universities quickly acquired recognition－not only in technological fields but also in the fine and liberal arts.


Many new post-school technical colleges were founded in the early 20th century. The Fisher Act of 1918 empowered the local authorities to levy a rate (tax) to finance such colleges. The universities, on the other hand, received funds from the central government through the University Grants Committee, established in 1911 and recognized in 1920, after World War I.


A new type of technical college was established in the 1960s－the polytechnic, which provides mainly technological courses of university level as well as courses of a general kind in the arts and sciences. Polytechnics are chartered to award degrees validated by a Council for National Academic Awards.


Thus, the tertiary level in the United Kingdom is made up of colleges of further education, technical colleges, polytechnics, and universities. The colleges offer full-time and part-time courses beyond compulsory-school level. Polytechnics and universities are mainly responsible for degrees and research. The innovative Open University, with its flexible admission policy and study arrangements, opened in 1971. It uses various media to provide highly accessible and flexible higher education for working adults and other part-time students. It serves as an organizational model and provides course-materials for similar institutions in other countries.


Changes in British education in the second half of the 20th century have, without changing the basic values in the system, extended education by population, level, and content. New areas for expansion include immigrant cultural groups and multicultural content, the accommodation of special needs, and the development of tools and content in the expanding fields of microelectronics.
46. The first paragraph is mainly about ______.

   A. the definition of further education


B. the history of further education

   C. the development of further education


D. the prospects of further education

47. It is implied in the passage that ______.

   A. the dominance of Oxford and Cambridge was replaced by that of the new civic universities more than a century ago

   B. Oxford and Cambridge failed to satisfy the public demand for increased opportunity for higher education
   C. the rise of many civic universities immediately followed the establishment of polytechnic colleges

   D. the education provided by the Open University was anything but adaptable

48. How were those new post-technical colleges financed?

   A. They got money from the local people.

   B. They received money from the central government.

   C. They got financial support from taxes.

   D. Both B and C

49. The word “tertiary” in paragraph 5 most probably means ______.

   A. advanced


B. senior



C. highest



D. third

50. The proper title for the passage should be ______.

   A. Changes in British Education



B. British Further Education

   C. Polytechnics and Universities in Britain

D. Increased Opportunity of Higher Education
Passage Four

Mobility of individual members and family groups tends to split up family relationships. Occasionally the movement of a family away from a situation which has been the source of friction results in greater family organization, but on the whole mobility is disorganizing.


Individuals and families are involved in three types of mobility: movement in space, movement up or down in social status, and the movement of ideas. These are termed respectively spatial, vertical, and ideational mobility.


A great increase in spatial mobility has gone along with improvement in rail and water transportation, the invention and use of the automobile, and the availability of airplane passenger service. Spatial mobility results in a decline in the importance of the traditional home with its emphasis on family continuity and stability. It also means that when individual family members or the family as a whole move away from a community, the person or the family is removed from the pressures of relatives, friends, and community institutions for conventionality and stability. Even more important is the fact that spatial mobility permits some members of a family to come in contact with and possibly adopt attitudes, values, and ways of thinking different from those held by other family members. The presence of different attitudes, values, and ways of thinking within a family may, and often does, result in conflict and family disorganization. Potential disorganization is present in those families in which the husband, wife and children are spatially separated over a long period, or are living together but see each other only briefly because of different work schedules.


One index of the increase in vertical mobility is the great increase in the proportion of sons and to some extent daughters, who engage in occupations other than those of the parents. Another index of vertical mobility is the degree of intermarriage between social classes. This occurs almost exclusively between classes which adjacent to each other. Engaging in a different occupation, or intermarriage, like spatial mobility, allows one to come in contact with ways of behavior different from those of the parental home, and tends to separate parents and their children.


The increase in ideational mobility is measured by the increase in publications, such as newspapers, periodicals, and books, the increase in the percentage of the population owning radios, and the increase in television sets. All these tend to introduce new ideas into the home. When individual family members are exposed to and adopt the new ideas, the tendency is for conflict to arise and for those to become psychologically separated from each other.
51. What the passage tells us can be summarized by the statement ______.

   A. family disorganization is more or less the result of mobility

   B. individuals and families are involved in three types of mobility

   C. sometimes the movement of a family results in greater family organization

   D. social development results in family disorganization

52. According to the passage, those who live in a traditional family ______.

   A. will have more freedom if they move away from it

   B. are less likely to quarrel with others because of conventionality and stability

   C. can get more help from their relatives and friends

   D. tend to adopt new ideas which they are exposed to

53. Potential disorganization exists in those families in which ______.

   A. the husband, wife, and children work too hard

   B. the husband, wife, and children seldom get together

   C. both parents have to work full time

   D. the family members are subject to social pressures

54. Intermarriage and different occupations play an important role in family disorganization because ______.

   A. they allow one to improve his social status

   B. they enable the children to understand their parents better

   C. they permit one to come into contact with different ways of behavior and thinking

   D. they enable one to travel around more conveniently

56. It implies in the passage that a well-organized family is a family whose members ______.

   A. seldom quarrel with each other

   B. are exposed to the same new ideas introduced by books, radios, and TV sets

   C. are ready to help others

   D. are not psychologically withdrawn from one another

Section IV  Translation

Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on ANSWER SHEET 2. (15 points)


     Fundamentally, income disparity describes two disparate groups: the rich and the poor. It is hardly news that the rich are getting richer. The underlying story is a familiar one: the wealthiest households own the most assets, namely stocks, and asset prices have risen at a ferocious pace in recent years. 56) Beyond the standard explanation, it is also the case that the emergence of technology, rising productivity, and an expanding global market have brought forth a new upper class among corporations. These newly wealthy firms pay skilled employees well and in an even tighter labor market, they are forced to constantly sweeten their employees’ compensation.

Then there are the poor, whose conditions are a little murky. Falling unemployment, anecdotal evidence of rising starting wages for low level service jobs, and the relative non-event of welfare reform so far suggest that conditions at the low end are improving; yet at the same time, whole communities under siege by crime and hopelessness cannot be ignored.


     That said, income inequality as a blanket indictment on our economic system does not fly. Income disparity is the gas that runs our economic engine. 57) The ability to someday earn more, to live at a higher standard, is what gets people out of bed in the morning, particularly in our consumer-oriented economy; income disparity only becomes a problem if it widens to the extent that the labor force believes that greater wealth can only be achieved by the already wealthy.
Indeed, it is unreasonable to state that income disparity is eroding the labor force’s will to improve productivity and move ahead. 58) Increasing labor force participation, record homeownership, surging consumer confidence and spending, near record levels of immigration, and urban renewal are all anecdotal evidence that hopes are high; all types of people are flourishing in the New Economy and there is sufficient evidence to suggest that most still want their shot at the brass ring.
So why are there still very poor households in this country? There are many reasons. Our economy is shifting towards the production of higher value goods and services. Unskilled labor is not valued to the degree that it once was, and unskilled workers are paid accordingly. 59) There has also been a recent surge of immigration into the U.S.; many migrants to this country, particularly those who are unskilled or language challenged, require time to be absorbed into our economy. If skills are lacking, it may take a generation or two to move ahead.

60) It is also important to remember that it is not the ultimate goal of every person to be fabulously rich, one of the fundamentals of economics is that one decides how hard to work, where to work, and what risks to take. Monetary wealth is not the sole means of maximizing utility. Each person has a finite life span and finite abilities; it is up to the individual to apply those as they see fit. The wealthy getting wealthier is not always evidence to others that they themselves are falling behind.


Section V  Writing

Directions: In this section, you are required to write a composition according to the information given below in Chinese. You should write more than 150 words neatly on ANSWER SHEET 2. (20 points)
今年，国家开始实施新的道路交通法规，加大了机动车与行人发生交通事故后对司机的惩处力度，更加注重以人为本的思想。对此，人们有不同的看法。有人认为，这样做非常正确，因为有些司机完全无视交通法规，酒后驾车、违规行车的事情时有发生，根本就不珍视他人的生命，这样做会警示他们。而有的人认为，这样做对司机不合理，因为很多交通事故是由于行人不走人行横道或是闯红灯造成的，这样做只会助长行人的违规行为。请你对此发表自己的观点。
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